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  SET - V 

1.  nks ifjes; la[;k ds chp esa fdruh ifjes; la[;k gksxh & 

(A)  1  (B)  10  (C)  100    (D) vifjfer ¼vuUr½ 

Number of rational numbers between two rational numbers is – 

(A)  1  (B)  10  (C)  100    (D) Infinity  

2.  3.5 dk oxZ gksxk & 

(A) 12.25  (B)  122.5    (C) 12 25     (D) 0.1225 

Square of 3.5 is – 

(A) 12.25  (B)  122.5    (C) 12 25     (D) 0.1225 

3.  bues dkSu&lk iw.kZ ?ku la[;k ugha gS & 

(A) 1000    (B) 125    (C)  63   (D) 27 

In these which is not a perfect cube –  

(A) 1000    (B) 125    (C)  63   (D) 27 

4.  2
0
 + 3

0
  dks ljy djus ij ÁkIr gksxk & 

(A) 1      (B)  0      (C) 5     (D) 2 

By simplify 2
0
 + 3

0
  we get –  

(A) 1      (B)  0      (C) 5     (D) 2 

5.  

6

468

PQ

×  esa P rFkk Q dk eku gksxk & 

(A) 7, 3         (B)  7, 8        (C) 3, 7        (D) 8, 7 

The value of P and Q in 
6

468

PQ

×  is –  

(A) 7, 3         (B)  7, 8        (C) 3, 7        (D) 8, 7 

6.  2 1x − esa ls 21 x−  ?kVkus ij ÁkIr gksxk & 

(A) 0  (B) 22 2x −   (C)  22 2x +   (D) 22x  

Subtracting 21 x−  from 2 1x −  we get –  

(A) 0  (B) 22 2x −   (C)  22 2x +   (D) 22x  



 

7.  38 2a a−  dk xq.ku[k.M gksxk & 

(A) 2 (2 1)(2 1)a a a+ −      (B) 22 (49 1)a −     (C) 32( )a a−      (D) 4 (2 1)a a −   

Factor of 38 2a a−  will be –  

(A) 2 (2 1)(2 1)a a a+ −      (B) 22 (49 1)a −     (C) 32( )a a−      (D) 4 (2 1)a a −  

8.  16 4y= +  dks gy djus ij gesa y dk eku ÁkIr gksxk & 

(A) 12   (B)  20  (C)  4    (D)  -12 

By solving the equation 16 4y= + , we get value of y –  

(A) 12   (B)  20  (C)  4    (D)  -12 

9.  -3m dks 2( 2 )m n− + ls xq.kk djus ij ÁkIr gksxk & 

(A) 33 6m mn− +    (B) 33 6m mn−       (C) 23 6m mn+     (D)  3 33 2m n−  

The multiplication of -3m and 2( 2 )m n− + is –  

(A) 33 6m mn− +    (B) 33 6m mn−       (C) 23 6m mn+     (D)  3 33 2m n−  

10.  4 232 8x x− ÷  dk eku buesa ls dkSu&lk gS & 

(A) 24x−      (B) 44x−      (C) 24x      (D) 4x−   

Which is the value of 4 232 8x x− ÷  is –  

(A) 24x−      (B) 44x−      (C) 24x      (D) 4x−   

11.  eaxy ,d la[;k P lksprk gSA mlesa 5 ?kVkdj ifj.kke dks 8 ls xq.kk djrk gSA vc tks ifj.kke 
feyrk gS] og lksph xbZ la[;k dh frxquh gSA bl leL;k ds gy ds fy, lehdj.k dk #i ugha gksxkA 

(A) ( 5)8 3x x− =     (B) 5 8 3x x− × =       (C) 
( 5)8

3

x
x

−
=     (D) 8 40 3x x− =  

Mangal thinks a number P. He subtracts 5 from this number and multiply by 8, now 

this number is 3times of previously thinked number. Which of these not a correct 

equation to solve this problem. 

(A) ( 5)8 3x x− =     (B) 5 8 3x x− × =       (C) 
( 5)8

3

x
x

−
=     (D) 8 40 3x x− =  

12.  ,d nwdkunkj }kjk LosVj ij 20% cÍk fn;k tk jgk gSA bl vk/kkj ij dkSu lk dFku lgh gksxkA  

(A) Ø; ewY; esa ls 20% ?kVsxk     (B)  foØ; ewY; esa ls 20% ?kVsxk 
(C) vafdr ewy; esa ls 20% ?kVsxk  #0    (D)   rhuksa a, b vkSj c lgh gSA 
A shopkeeper gives20% discount on a sweater on the basis of this problem which 

option is correct – 

 

(A) By subtracting 20% from cost price  (B) By subtracting 20% from sell price 

(C) By subtracting 20% from market price  (D) All three A, B and C 

 



 

13.  ,d ntZu dsys dk ewY; 30 #0 gS rks 360 #0 esa fdrus ntZu dsys feysaxs\ 

 (A) 144   (B) 90     (C)  12     (D) 40   

Cost of one dozen banana is 30 Rs. How much dozen banana we have from 360 Rs. 

(A) 144   (B) 90     (C)  12     (D) 40  

14.  buesa dkSu&lk bl lewg dk ugha gSA 

(A) ?ku   (B) ?kukHk     (C)  vk;ru     (D) ‘kadq   

Which is not a member of this group –  

(A) Cube    (B) Cuboid    (C) Rectangle  (D) Cone 

15.  layXu vkÑfr esa x dk eku gksxk & 

What is the value of x in the given figure –  

(A) 75
0
     (B) 110

0
      (C) 115

0
    (D) 60

0 

 

 

16.   

 

 

 

fp= II ?kj ds fp= I dk fd/kj ls fy;k x;k n`’; gSA 

(A) lkeus ls n`’;   (B) ik’Zo ls n`’;      (C) uhps ls fp=    (D)  mij ls fp= 

Figure – II is a view of house (figure - I). Which  option is correct – 

(A) Front view    (B) Side view    (C) Under view  (D) Top view 

17.  pkj cfPp;ksa us lekarj prqHkZt ABCD  cuk;k ftlesa AB = 4cm, BC = 6cm rFkk 060B∠ =  gSA 
blesa dkSu&lk xyr gS & 
Four girls construct parallelogram ABCD individually of the measure AB = 4cm,        

BC = 6cm and 060B∠ = . Which is not correct - 

 

 

 

 

 

fp= &I  

(Figure II) 

 

fp= &II  

(Figure II) 



 

18  fn, fp= ds vuqlkj ,d vk;rkdkj eSnku ds Nk;kafdr vk;rkdkj Hkkx esa Qwy yxk;k x;k gSA fp= 

esa fn, eki ds vk/kkj ij Qwy ugha yxs Hkkx dk {ks=Qy  & 

According to the given picture, flowers have been planted in the shaded rectangular 

part of a rectangular plain. On the basis of given measurement in the figure. Find out 

the area which is not gardening. 

 

 

(A) 215m         (B)  296m      (C)   218m  (D) 281m  

19.  oxZ vUrjky 20 & 40 dk oxZ fpUg gksxk & 

(A) 10   (B)  20    (C)  30   (D)  40 

Class-mark of the class-interval 20 – 40 will be –  

(A) 10   (B)  20    (C)  30   (D)  40 

20.  ,d fcUnq dk funsZ’kkad (0, 0) gSA ;g ys[kk fp= ¼xzkQ½ ij dgk¡ fLFkr gS & 

(A) X & v{k ij   (B)  y & v{k ij   (C)  X & v{k rFkk  y & v{k ds e/; (D)  ewy fcUnq ij 

In a graph (0, 0) is the co-ordinate of a point. Where is the point situated in the graph. 

(A) On the X- axix   (B) On the Y- axix    

(C) In between  X and Y axix  (D) On the origin 
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2 A 
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16 D 

17 D 
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